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Heading 2

+ Marqueu el vostre nimero, i escriviu els | cognoms, nom, i grup:

COGNOMS - Nom - Grup :

Some instructions here

Which is the result if we take 10 from 12 and then multiply the result by 57
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Heading 2

+ Marqueu el vostre nimero, i escriviu els | cognoms, nom, i grup:

COGNOMS - Nom - Grup :

Some instructions here

Which is the result if we take 10 from 19 and then multiply the result by 57
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Heading 2

+ Marqueu el vostre nimero, i escriviu els | cognoms, nom, i grup:

COGNOMS - Nom - Grup :

Some instructions here

Which is the result if we take 10 from 18 and then multiply the result by 57
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Heading 2

+ Marqueu el vostre nimero, i escriviu els | cognoms, nom, i grup:

COGNOMS - Nom - Grup :

Some instructions here

Which is the result if we take 10 from 15 and then multiply the result by 57
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